4000

99,275,149 85171,678|  14103471|[ 2,759,523  523,300]

4200 98,401,586 84370850|  14030736|[ 2,694,809  523,300]

4210 98,401,586 84370850|  14030736|[ 2,694,809  523,300]
4218 6,452,948 o| 6452948
100 6,246,204 o| 6246204
110 4,013,247 o 4013247
101 4,013,247 o 4013247

2,603,788 o|  2,603,788|01

(144 ) (=1,952,840)

2,222,100 * 1
1,951,300 * 2
1,698,600 * 7
1,494,800 * 6
1,369,800 * 23
1,045,200 * 45

803,900 * 58

1,019,400 * 2

12

12

12

12

12

12

12

12

.0247

.0247

.0247

.0247

.0247

.0247

.0247

.0247

27,324

47,988
146,207
110,284
387,404
578,349
573,335

25,070




1,394,421

1,394,421

1,895,961,000 * 3% = 56,879
(=650,948)
1,952,840,000 * 2/12 = 325,474
1,952,840,000 * 2/12 = 325,474
02
(=982,112)
( ) (=70,628)
7,949 * 32 *2 %12 *1.0247 = 6,256
7,011 * 32 *7 %12 *1.0247 = 19,312
6,369 * 32 *2 *12 *1.0247 = 5,013
5,795 * 32 x5 %12 * 1.0247 = 11,402
5,354 * 32 *g8 *12 *1.0247 = 16,854
4,047 * 32 %5 *x 12 * 1.0247 = 9,733
68,570,000 * 3% = 2,058
(24 ) (=570,417)
6,369 * 75  *4 *12 *1.0247 = 23,495
5,795 * 75 * 18 * 12 * 1.0247 = 96,198




5,354 * 75

4,947 * 75
5,213 * 75
(=308, 465)

16,985 * 365

15,454 * 365
14,279 * 365

13,192 * 365

13,902 * 365

(=32,602)
58,703 * 2
51,777 * 2
47,036 * 2
42,796 * 2

39,541 * 2

*37 *12 * 1.
*53 *12 * 1.
*2 *12 *1

553,802,000

*4  *1/2 * 1.
*18 *1/2 * 1.
*37 *1/2* 1.
*53 *1/2 * 1.

*2 *1/2 * 1.

299,480,000

0247

0247

.0247

* 3%

0247

0247

0247

0247

0247

* 3%

.0247

.0247

.0247

.0247

.0247

182,692
241,801
9,616

16,615

12,706
52,021
98,801
130,752
5,200

8,985

2,888
8,914
2,314
5,263

7,780




36,532 *2 *5 *

(=412, 309)

1.2

—-20" 25

-15" 20

-10" 15

-5 10

(=102,298)

(=39,716)

(=9,478)

44,460 * 144

185,300 * 144

(=111,000)

31,652,000 * 3%

30,000 * 144

20,000 * 144

328,100 * 144

130,000
110,000
80,000
60,000

50,000

12

* 1.0247

*0.90 * 12

*1.61 * 12

* 0.

*2/3 *0.18 * 4

*1/3 *0.18 * 4

16 * 4

4,493

950

46,656

55,642

3,074
6,404

30,238

18,720
26,400
18,240
26,640

21,000




30,000 * 144 * 12 = 51,840
(=2,815)
- 27,324,000 * 10% = 2,733
- 2,733,000 * 3% = 82
(=104,640)
- C ) 10,000 * 8 * 12 = 960
- 40,000 * 1 * 12 = 480
- 30,000 * 4 *12 = 1,440
- 80,000 * 106 * 12 = 101,760
15,038 0 15,038 |04
( ) (=14,106)
24,960 * 1 * 300 = 7,488
7,488,000 * 4/12 = 2,496
7,488,000 * 1/12 * 50% * 2 = 624
24,960 * 1 * 12 = 300
24,960 * 1 * 15 = 375
24,960 * 1 * 65 = 1,623




100,000 * 1 * 12 = 1,200
14,106,000 * 4.5% = 635
14,106,000 * 1.5 = 212
101 14,106,000 * 0.6% = 85
20 2,232,957 232,957
201 264,036 264,036
261,336 261,336/ 01
(=30,874)
(=25,572)
16,800 + (90 - 0.75 ) * 12,200 = 1,106
(=1,008)
12,000 * 4 * 12 = 576
9,000 * 4 *12 = 432
(=270)
45,000 * 3 *2 = 270
30,000 * 12 = 360
30,000 * 12 = 360




= 3,036

= 4,344
50,000 * 30 = 1,500
50,000 * 10 = 500
= 720
(=2,000)
200,000 * 7 = 1,400
300,000 * 2 = 600
500,000 * 2 = 1,000
100,000 * 4 = 400
100,000 * 18 * 2 = 3,600
2,000,000 * 1 = 2,000
= 3,368
(=5,302)
(16,800 + (10 - 0.75 ) * 12,200) * 2 = 260

18,700 * 1 *12 *4 = 898




- = 1,704

- 30,000 * 12 *4 = 1,440
— 50,000 * 5 *4 = 1,000
(=88,409)
(=79,193)
- 50,000 * 11 * 12 = 6,600
— 15,730 * 24 *12 = 4,531
-119 4,070 * 10 *4 = 163
— 25,000 *8 * 12 = 2,400
—CATV 17,000 * 5 * 12 = 1,020
- 4,000,000 * 12 = 48,000
- . 250,000 * 12 = 3,000
~ (=3,330)
210 * 8,000 = 1,680
1,100 * 1,500 = 1,650
- ( ) 210,000 * 2 = 420

_ @3 ) = 4,602




- (=5,100)

150,000 * 2 = 300
30,000 * 2 *3 = 180
105,000 * 2 * 22 = 4,620
- 3,000 * 9 = 27
(=9,216)
- 50,000 * 12 *5 = 3,000
- 100,000 * 12 * 3 = 3,600
. 50,000 * 12 *3 = 1,800
—CATV 17,000 * 12 * 4 = 816
(=8,960)
(=8,660)
- 10,000 * 2 * 68 = 1,360
- 10,000 * 2 * 365 = 7,300
(70,000 + 30,000 * 1 ) *1 = 100
(70,000 + 30,000 * 1 ) *1 = 100

-119




50,000 *1 *2 = 100

(=29,000)
(=14,210)
2,000 *2 *5 *12 = 240
5,000 * 42 *30 = 6,300
5,000 * 2 * 144 *1/2*5 = 3,600
5,000 *2 *10 *5 = 500
5,000 * 12 * 119 * 1/2 = 3,570
(=14,790)
2,000 * 102 * 1/2 * 10 * 12 = 12,240
5,000 * 102 * 1/2 * 10 = 2,550
(=5,878)
)
2,332 * 75 * 8  * 30,000/100,000 = 420
( ) (=5,458)

2,332 * 100 * 18 * 100,000/100,000 = 4,198




2,332 * 100 * 18  * 30,000/100,000 = 1,260
(=22,500)
(=4,500)
3,000,000 * 1 = 3,000
500,000 * 3 = 1,500
(6%) (=8,000)
50,000 * 100 = 5,000
6 ) 500,000 * 6 = 3,000
(5%) (=10,000)
= 5,000
= 2,500
= 2,500
(=75,715)
2,649,000 * 2 = 5,298
1,957,000 * 1 = 1,957
) 4,149,000 * 14 = 58,086

( ) 1,729,000 * 6 = 10,374




2,700 2700{02
(=2,700)

1,000,000 * 1 1,000
100,000 * 5 500
200 * 5,000 1,000
201 200,000 * 1 200

202 50,836 50,836

50,836 50,836 |01
(=14,116)
49,900 * 3 * 4 599
49,900 * 2 * 2 200
10,000 * 3 * 4 * 12 1,440
49,000 * 3 * 1 *12 1,797
10,000 * 2 * 42 * 12 10,080
(=36,720)

202 10,000 * 3 * 102 * 12 36,720

203 678,640 678,640




8,800

4,100

1,900

663,840

8,800

4,100

1,900

663,840

01

(=8,800)
) = 4,000
( ) 1,200,000 * 4 = 4,800
02
(=4,100)
-100 30,000 * 100 = 3,000
.101 25,000 * 44 = 1,100
03
2,000,000 * 95% = 1,900
04
(=12,000)
400,000 * 1 * 12 = 4,800
100,000 * 2 * 12 = 2,400
100,000 * 4 * 12 = 4,800
(=205,920)
400,000 * 1 * 12 = 4,800




(=20,400)
(10 )
(32 ) (=3,720)
(30 )

@ )

(48 ) (=4,680)
(30 )

18 )

(30 )
11 )

(=425,520)

250,000 * 2
155,000 * 13
140,000 * 23

105,000 * 105

200,000

300,000

5,000 * 2

300,000
5,000 * 18
300,000 * 2

200,000 * 1

50,000 * 141

170,000 * 143

* 12

*12

* 12

* 12

6,000
24,180
38,640

132,300

2,400

3,600

120

3,600
1,080
7,200

2,400

84,600

291,720




100,000 * 41 * 12 = 49,200

204 1,140,680 1,140,680
90,000 * 144 * 12 = 155,520

(=212, 160)

140,000 * 1 * 12 = 1,680
C 130,000 * 38 * 12 = 59,280
120,000 * 105 * 12 = 151,200
1,952,840,000 * 1.5/12 = 244,105
1,952,840,000 * 2.5/12 = 406,842
204 1,952,840,000 * 18/288 = 122,053

206 67,645 67,645

57,320 57,32001
(=14,360)

700,000 * 19 = 13,300
2,000 * 500 = 1,000
20,000 * 3 = 60

(=1,000)




206

10,325

10,325

50,000 * 20 1,000
(=3,360)
30,000 3  * 4 360
(11 , 200M) 1,000,000 * 2 2,000
3 200,000 * 3 600
20,000 * 4 * 4 320
20,000 * 1 * 4 80
(=4,480)
1,000,000 * 4 4,000
10,000 * 4 * 12 480
= 4,120
5,000,000 * 6 = 30,000
02
@ , 200 ) = 9,684
9,684,000 * 1.5% = 146
9,684,000 * 0.6% = 59
9,684,000 * 4.5% = 436




301

30,070 30,070
6,162 6,162|02
(=6,162)
185,300 * 3 * 4 = 2,224
328,100 * 3 * 4 = 3,038
10,929 10,929(03
19,700 * 84 * 6 9,929
100,000 * 5 * 2 1,000
8,189 8,189(08
23,600 * 5 * 12 1,416
75,000 * 5 * 12 4,500
30,000 * 5 * 12 1,800
94,500 * 5 473
3,740 3,740|09
119 10,000 * 100 1,000
119 10,000 * 100 * 1 1,000
10,000 * 144 * 1 1,440




10,000 * 15 *2 = 300
1,050 1,050|11
5,000 * 10 = 50
50,000 * 10 = 500
301 50,000 * 10 = 500
303 1,050 1,050
(=1,050)
50,000 * 7 350
50,000 * 7 350
303 50,000 * 7 350
200 206,744 206,744
220 206,744 206,744
307 23,400 23,400
23,400 23.400(05
15,000 * 1,160 = 17,400
307 500,000 * 12 = 6,000
401 99,500 99,500




99,500

99,500

01

(=17,000)

(=37,000)

« )

(=45,500)

(=5,000)

(=7,000)

3,500,000 * 2
3,500,000 * 2

3,000,000 * 1

*

2,000,000 * 2
1,000,000 * 20

13,000,000 * 1

150,000 * 30
20,000,000 * 1

500,000

*
(ep]

5,000,000 * 1

3,500,000 * 2

7,000
7,000

3,000

4,000

20,000

13,000

4,500

20,000

3,000

5,000

7,000




2,000,000 * 1 = 2,000
401 500,000 * 8 = 4,000
405 83,844 83,844
83,844 83,844/01
(=48,814)
(=18,323)
660,000 * 1 = 660
660,000 * 1 = 660
1,540,000 * 1 = 1,540
990,000 * 1 = 990
880,000 * 1 = 880
3,960,000 * 1 = 3,960
(K1) 143,000 * 11 = 1573
1,430,000 * 1 = 1,430
1,650,000 * 1 = 1,650
300,000 * 3 = 900
200,000 * 5 = 1,000




100,000 * 11 = 1,100
1,980,000 * 1 = 1,980
(=11,765)
5,500,000 * 1 = 5,500
300,000 * 2 = 600
210,000 * 1 = 210
500,000 * 1 = 500
200,000 * 1 = 200
( ) 1,600,000 * 1 = 1,600
820,000 * 1 = 820
770,000 * 1 = 770
250,000 * 2 = 500
275,000 * 1 = 275
470,000 * 1 = 470
320,000 * 1 = 320
(=5,726)

5,000,000 * 1 = 5,000




187,000 * 2 = 374
50,000 * 4 = 200
38,000 * 4 = 152
(=13,000)
300,000 * 30 = 9,000
4,000,000 * 1 = 4,000
(=1,545)
(=1,545)
15 ) 1,545,000 * 1 = 1,545
(=4,970)
(=4,970)
655,000 * 2 = 1,310
500,000 * 1 = 500
38,000 * 20 = 760
1,200,000 * 2 = 2,400
(=28,515)

(=28,515)




a ) 61,000 * 5 = 305
1,500,000 * 3 = 4,500

300,000 * 2 = 600

275,000 * 10 = 2,750

UT-912 200,000 * 6 = 1,200
UT-918 260,000 * 4 = 1,040
UT901 180,000 * 4 = 720
TP-120 140,000 * 23 = 3,220
TP-110 180,000 * 1 = 180
300,000 * 5 = 1,500

@ ) 500,000 * 1 = 500
2,000,000 * 4 = 8,000

4,000,000 * 1 = 4,000




